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B2 B V) s B P 0

K BER BB (B EFE—H)
28 P22 il FR SES 8 FTFERE
L (B/%)

B i 1S 6-10 7.7-9.3 8.2 ot
HHEE (mg/) 100 <30 -59 37 Ik
B E (mg/) 10 <2-49 2.6 =
WMEYEE (mg/) 2,000 467 - 1000 715 =
WAEY 4 & (mg/) 10 <0.5 <0.5 e
S E (mg/) 0.1 <0.04 <0.04 =
R EIREEE  (mg/)) 100 <15-33 21.8 =
AR (mg/) 20 <10 <10 TE
& &  (mg/l) 0.5 <0.3 <0.3 =
BEr R E (mg/) 1 <0.6 <0.6 o
FHEMER (mg/) 15 <7 <7 TE
EEFEEE (mg)) 2, 000 150 - 500 341 E
HikE (mg/) 200 26 - 66 45.2 o
(0 43 1924 22 s
T V8 (mg/l) # ; - - ;
EEeB

i (mg/l) 2 <0.4 <0.4 =
5 (mg/l) 5 <1-16 1.1 =
8 (mg/l) 0.1 <0.1 <0.1 =
$&  (mg/) 1 <0.3 <0.3 i
#1  (mg/D) 2 <0.5-0.5 0.5 L
$ti (mg/l) 2 <1 <1 yiss
i (mg/l) 5 <0.2-0.27 0.21 P
7K (mg/l) 0.05 <0.05 <0.05 =
2 (mg/) 2 <1 <1 =
B (mg/l) 2 <0.4 <0.4 =
# (mg/l) 5 <1 <1 B
P (mg/) 2 <1 <1 e
BB EEH# (mg/l) 10 <7.0-75 7.1 =
B (mg/l) 5 <1.0-2.1 1.3 =
# (me/D) 10 <2 <2 =
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L (2/5)

REE
Aldrin (mg/l) 0.01 <0.01 <0.01 =
BHCS (mg/l) 0.01 <0.01 <0.01 v
AR (mel) 0.01 <0.01 <0.01 2
FEZEELEEY
REE (mg/) 0.1 <0.06 <0.06 &
EHEMLEY
1,1,1- = 8 2 5% (mg/) 0.05 <0.025 <0.025 e
ZEBE
% A K 48 & (mg/) 0.003 <0.003 <0.003 e
B MY E # ; -
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EF RSB ESE (ZE_FEF—H)
28 122 1l IR & GEHRC EHE | FERE
(e =)@ (B/%)

() =+45rFEE @

R (ke/0.5h) 0.58 0.00 — 0.02 0.01 =
“ & Abw (ke/0.5h) 3.86 0.01-1.69 0.23 yss
B l%  (kg/0.5h) 1.16 0.01-0.21 0.04 yss
#AbE (kg/0.5h) 0.08 0.00 - 0.00 0.00 =
ALY

(L Z & 16 & &5 B§) 7.71 0.72-3.05 1.53 =
(kg/0.5h)

A bk (ke/0.5h) 0.39 0.00 - 0.09 0.00 yiss
— & Lk (keg/0.5h) 1.93 0.00 —0.80 0.07 yiss
(2) H¥9E ©

UL (kg/day) 9.25 0.15-0.61 0.36 =
“ &b (kg/day) 46.27 3.77-18.11 11.14 &
Eii%E  (ke/day) 9.25 0.84 —3.04 1.89 yss
#wAbE (kg/day) 0.93 0.00 —0.00 0.00 yiss
ALY

(L Z & 1k & &5 8§) 185.06 56.73 — 86.52 72.39 =
(kg/day)

BA b (ke/day) 9.25 0.00 -0.25 0.08 yiss
— &AL (kg/day) 46.27 0.79-5.36 3.36 piss
(A)  Hfth

S8 122 1l R & S FaRE
(Hem )@ B/E)

o | AN

et Gamy | 09 0089 =
wmREALEY

(LA bsS & &85 H) 0.73 <0.003 s
(kg/h)

B% & (DA % 51 &) (ke/h) 1.45 0.052 =
B (CIBEETR) (ke/h) 0.21 < 0.006 =
R RORABE (kg/h) 0.19 <0.003 yiss
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e =) © (B/&)
EEesBE—E)Y:
FaaeBEFE—-HmnasE _
(ke/h) 0.0019 <0.0003 b
EEEBEE)O:
fil (kg/h) 0.0023 <0.0001 &
FaeBG _HHAE .
(ke/h) 0.019 <0.0029 yoea
& (kg/h) 0.0019 < 0.0001 =
TEEEL (ng/h) 2,891 23 =
Ea
Q) BRI BEEARESEEEgEL TEE BN & —
FEVOHBG  EEREESEEEE gl T PR B -
Q) FEENER LGP NEAAN=Z T+ o@FESE FI98E -
Q) FEHENER LGP EEANHSEE -
G EueEBE—H)EE W -
G) EFEEBEEE )R - 85 - b - g - 8% - 85 - 8 - 8F - 82 - -

(6) f Ay 4E E L 273K ~ 101.3 kPa~ T2 i REMEIEETE A

B WPHREERE 112 BH2FAEERE -




ERRER ZERBEYBRERSE (ZZ_FF—H)

B 52 BE P o B P 0
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28 P22 I PR & S B TFERE
B/&)

B8
B g 15 (7K) (%@8@@) 12.3-12.7 12.5 s
BB () | o | 55-98 77 B
ek
#% (ppm) 0.5 <0.5 <0.5 =
7K (ppm) 0.1 <0.02 <0.02 v
P8 & (ppm) 10 <0.5 <0.5 s
i (ppm) <0.5-2.8 0.9
# (ppm) <0.5-25 0.5
#5  (ppm) <1-22 1
# (ppm) <0.5 <0.5
i ;(I;f’ﬁ)‘ FEH) 25 <25-48 2.9 =
#  (ppm) 20 <1 <1 yss
W% (ppm) 10 <5 <5 =
Z A E (ppm) 10 <2-45 2.1 yss
#16Y) (ppm) 5 <5 <5 =
B8
g %fmjf W 5,000 <15 <15 v
AN EEE -
(ppm) 10 <5 <5 E
i&p;b) B 4E = ) o © =
% & WA (ppm) 1 <1 <1 s
TCDD (ITEF %) -
(ppb) 1 <1 <1 =




